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' GENERAL INSTRUCTIONS

Examinee is directed to read-carefully the following
Instructions :
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. Examinee must write his/her Roll Number in the

specified box on the top left hand corner of this page.
Answers are required to. be marked only on the
Computerised O.M.R. Answer sheet which is being
provided to the examines.

. Besides filling in the Roll Number, the examinee has .

to put his/her signature on the Answer-Sheet and also
fll other required details like Name, Roll Number,
Question Booklet code, elc. as indicated on the OMR
Answer Sheet. If these details are nat filled in by the
examinee, his/her Answer Sheet will not be evaluated.

. For eachquestion, there are four alternative answers, .

out of which only one is correct. Examinee must darken
the circle of correct option in the Answer Shest by
Black Ball Pen only. =

. There are 24 {20+4) pages in this Question-Bookist

including 1 page for General Instructions and four
blank pageés for Rough‘Work in the last. n case an
examinee recelves an incomplete or defective
Question Booklet, he/she should make a request to
the Room invigilator to change the same within 10
minutes of start of the exam.

. This Question Booklet contains 50 questions from

following subject :

(1) Biology Q. Nos, 1-50

- Each question carries 1 mark and % mark will be

deducted for each wrong answer.

- Possession and use of electronic devices such as

Calculator, Cellular Phone, Digital Diary, Log Table,
Pager, etc., are restricted during the examination.

. Any leaf from the Question Booklet should not be

detached. After the Examination, Question-Booklet
and Answer-Sheet must be handed over to the Room
Invigilator.
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>AAAAAAAAAAAAAAAAAAAAAAAAA[ page No. 1 ’AAAAAAAAAAAAAAAAAAAAAAA-‘AAA

5CEB

:
gcollegedunlas
India’s largest Student Review Platform



1. Zoospore'is a 1. 9 famy (Siedi) ws
A) haploid non 'fiﬁ'g‘éllétéd spores A) TR TeRTTETa Sty
B) haploid flagellated male gametes B) WW“W
C) haploid female gamete C) I Arer e
D) haploid fiagellated spore D) Wﬁmm

2. The list of agents of pollinati nd the
2.ihe g B ; S e 2. 9ot 3 SR qur g s avh seeT
technical words used to describe the

pollinationiare given'below. identify the g ! % et A A R | e S
correct pair. ST M |
A) BeERITRet  Yiae T

A} Malacophilly. Pollination by snails

B) Entomophilly Pollination by birds B) wemifteh et T
C) Ornithophilly. Pollination by winds | - C) sfuifeeht  awg v ,
. ; [
D) Anemophilly. Poliination by animals D) whmiteett  snfer wemoy '
3. Which of the statements is correct 2 3. T | W T JoeT wEl R 7
A) cleistogamous flowers always A) TSR F OE WY i @)
exhibits autogamy oy &

B) chasmogamous flowers always
exhibit geitonogamy

B) S=fict qwmft war AR @ aei 3

C) cleistogamous flowers exhibit both C) Felfeetmery gl we1, @i e
autogamy and geitonogamy TRt e &
D) chasmogamous flowers never D) 3| qureft ssft +ft wmifirar =t
exhibit autogamy e T
B : LPage No. .'q 5CEB
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4. One of the ex situ construction methods 4. e et R ex situ Ry oy 2
for endangered species is ' ”
A) SSfla ARy
A) Wild life sanctuaries _ _f‘i
' B) 39 Weel ¥R i
B) Biosphere reserves _:
C) waifmeym |
- C) Cryopreservation : _ |
D) &g sem
D) National park
5. IUCN stands for 5. IICN 7w & ]
A) International Union for Nature and A) SATIE IR B e HT =g
Natural Resources g
B) Intemational Union for B) SWWE g BT oM e
Conservation of Nature and e =T fed|
Natural Resources _
C) FTEIS I R Fodem
C) International Union for AR fedg
Conservation of Natural _
Resources D) T=EHa gFe @t Sy og
: =
D) International Union for
Conservation of Nature | 6. T N H1 g o) | ot = sy Y
Hond @ 3@ FEd 81
6. Capacity of a plant cell to give rise to
whole plant body is known as A) TST
A) Reproduction ' B) o
B) Budding
C) Totipotency" C) <fediie-=
D) Regeneration : D)} T -
LPage No. ﬂ 5CEB
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7. A population has more than 50% in post
reproductive age group; according to
you such population is

A) stable
B) declining
C) increasing

D) showing biotic potential

8. ADA deficiency can be permanently
cured by

A) Bone marrow transplantation
during infancy

B) Enzyme replacement therapy at
the age of five

C) The infusion of genetically
engineered lymphocytes

D) The introduction of the ADA-
producing gene into the
embryonic stem cells

. Restriction endonuclease breaks bond |

between the
A) Base pairs of DNA molecule

B) Sugar-phosphate backbone of
nucleic acid

C) Exons and introns in cistron

. D) N-glycosidic bond between sugar
and base

7. TF AE % 50% RN & SR 59 %
a1} i T F R; 9 TN 39 TR
&+ e 8

A) fer

B) gemETwh
C) wigdt
D) Sif¥es & w1 Rerarh

8. ADA Y [7aT ! 5% 510 YIvad ©9 A
3iek frar s AT @ |
A) TE9 & IS % eI g

B) uie &t it 37 & wHemen Wi
Ferferean g

C) IgelRes w7 # Ffifier Rrwrars
1 T

D) ADA- et i 31 yor
HPTAT T T T

9. witerg Teiweivs * off s
disar e
A) DNA 31 % 3Tom site

B) e ufie # Ff-wiche 05
e

C) R i it 2
D < 7o 1 3 - w
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10. Select the wrong statement.

'A) Our pfesent day crop plants are
entirely different from their wild
ancestors

B) Almost all our present day crops
are the result of selections carried
out by the prehistoric human beings

C) Seeds and plant samples of only
genetically superior and cultivated
Species are introduced from one
country to another

D) Genetic diversity of our crop plants
must be conserved

11, Match the foliowing :

- Columni Column It
a. Gause p. Resource
partitioning
b. Connell q. Exclusion
principle
¢. Mac Arthur r. Competitive

release

d. Verhaust-Pear| s, Logistic growth
curve

A) a-q,b-p, c-s, d-r
B) a-r,b-p, c-s, d-g
C) a-g,b-r,c-p, d-s

D) a-,b-s, c-q,d-p

A RO

10. ¥4 & view o gfvg |
A) TR T R F vue F N
St il & e srem §
B) T wft e wdam i ¥ wwd

iR Tt g/ B T L
yftony §

C) et STERT &9 F 453 sit @t Y
STt Yo & oot okt Y % u

T T 3 A g 3w F o sw
T &

D) T waw Wt # sgafe Ao
1 T e e =i

1. W s frfae -

wwl

a. sy

b. #ra

c. 7 el

d. efsre-usd

A) a-q, b-p, c-s, d-r

B) a-r,b-p, c-s, d-q

C) a-q,b-r,c-p,d-s

D) a-r,b-s, c-q, d-p

SCEB
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12, The Hardy-Weinberg principle explains
that the speciation is due to

A) Mormphological changes
B). Chromosomal changes
C) Gene frequency changes

D) Acquired characters

13. Multiple alleles are characterized by, -

A) 'more than two alternate forms of
genes found at different logi

B) more than two alternate forms of
genes found on same loci

C) one gene occurs in two
chromosomes

D) none of these

1. Which of the following is a mis-matching
pair of the disease and medicine ?

A) Emphysema — I-antitrypsin
B) Cancer — Alpha interferon
C) Blood clot — Streptokinase

D) AIDS - Penicillin

i

12. Tttt g amwe 2 5 A
I &

A) ST SEeE

B) ST seema
C) sfim i semmm
D) wfnreta of

13. sgamit T & o s e A s
T §

D) w14 & ¢ 7t

A) Tl @it # am s @ @ s
A5 A7 j

B) & & <t  ure st 3 ¥ sifrs
FferR 7

C) T 7 2 s F gaw ¢

14, Eﬁﬁaﬁqmﬂnmaﬂwﬁwm@aé?

Er=

A) TRy — | AR

B) HiW — 31et ety :
C) |1 1 o1 — R
D) AIDS — 3fefl

SCEB

:
collegedunia:
uuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuuu m



I

15. Identify the right pair of the extinct animal 15. forgea wfdr arom 3 2wt 7wt M R

with their country.

. wfor 1
Animal Country
A) SiEl . w9
A) Dodo "~ Russia -
B) umgeiyT anéi%m
B) Thylacine Australia )
: C) T i
C) Quagga Mauritius

D) ®eer @z My 3SR
D) Stellar Sea Cow Africa ) he

16. ferferiea o  frw wg 5 Aifdvean

16. Diversity of which of the following given

groups are maximum ? AT R 7
A) Fishes | A) T
B) Algae B) fame 4
C) Fungi C) Fa=%
D) IR

D) Amphibians

17. The oceanic carbon reservoir constitutes 17. Hﬂﬁ FT SR 5 o~ 2

A) 49% _
A) 49%
B) 71%
B) 71%
C) 50%
C) 50%
D) 79%
D) 79%
B LPage No. 8 ] 5CEB
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18. More recombinants types are formed
when

A) the genes are located very near to
another on chromosome

B} the genes located far away from
one another on chromosome

C) the crossing over is very less

D) the genes are located only on

Y-chromosome

'9. ldentify.the correct combination showing
the blood group with their respective
antigens (sugar), antibody genotype
and special character.

Blood' Antigen  Antibody Genotype 'Special

Group preseny/ Character
Sugar
Ve A B b A8 Most
common
type
e [ A a 1818 Found only
' In India

) AB AorB  none A8 Co-

18. s Q-6 ym =T € o
A) S ShIEIT 3 U g e R 8
B) S shirsim e gat @ g fr 2
C) wifém aiaT =9 T 2
D.) S Y-S 3 Rl gar 2

19. T g H I Teifda wirew, wRaiet

Gﬂﬁagqaﬂtﬁﬁwaﬂa%mﬁ@qaﬁ
T AR i TEEE X |
W e/ e e
A) A B b B aEd
quT
T
Bl B A a BB ¥aaymg
T freraren

C) AB AorB FETH AP givafm

dominance
D) O Asi7@ a IO wehitfm >
" O Neither Botha |C|O Universal Bt 7t @b BTy :
AnorB andb donor
LPage No. Qq S5CEB
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20. Identify the mis-matched one.
A) CUU - Leycine
B) GGU - Glycine
C) GCU - Alanine
D) GAA - valine

21, Selectthe correct statement.

A) Acetobacter acitj Produce citric
acid

B) Saccharomyces cerevisiae is used
as clot buster

C) Penicillium notatum restricts the
growth of staphylococgi

D) Methenogens are found in aerobic
conditions

22. Read the statements and identify the
" right option.

Statement!: Human liverfluke
' depends on two *
intermediate hosts they
are snail and fish,

Statement ll: The life cycle of
Endoparasites are very
simple because of their
extreme specialization.

22, Waﬁq&aﬁtaﬁﬁmgﬁt

llllﬂllllllllﬂllﬂllll"llﬂ

20. ¥ @ e A g7 i
A) CUU - Leugine
B) GGU - Glycine
C) GCU - Alanine
D) GAA - Valine

21. TR R ¥ | .;*'
A) @mwwmmmi
T 8 i

B)mmﬁmaamﬁﬁﬁi}mmwi
TR F Y F Ry o 2 '

C)&ﬁﬁ%mﬁ&qéﬁﬁaﬁmﬁqﬁ
I Wisim oar 2

D)fﬁqﬁaw&mmﬁmwﬁé

|
|

PETL: U T AR S v sy
aﬁtwﬂwmﬁw&m%‘i

wHATI) : mwﬁﬁm%wqaa f

@ﬁmza%a‘\aﬁa;agaa‘i

A} Statement | and Il are correct TAE | .
B) Statement | and || are incorrect A) Fu9 | 79 i T
C) Statement | is correct and |1 is B) o7 [ 9 Il wrera
incorrect C) e e, 1t erm
D) f;?rt:;?entlls Incorrect and || is D) % | e, 1 |
B tage No.1ﬂ 5CEB !
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23. In the DNA moleculé

A) the Praportion of adenine in relation
tothymine varies with the organism

B) there are two strands which run
antiparallel onein 5 - 3' direction
and other in 3" — 5’ direction

C) the total amount of purine
nucieotides and Pyrimidine
nucleotides iis not always equal

D) there are. two strands which run
parallelin'the 5/ — &' direction

24. Which one of the following is wrongly
matched ?

A) Transcription — Writing information
from DNA to tRNA

B) Translation — Using informatian in
MRNA to make protein

C) Repressor protein — Binds to
Operator to stop enzyme synthesis

D) Operon - Structural genes,
operator and regulator

23. DNA 173

A) 887 % S 3 o w5 orgara ot
Y ST A @

B) St s 5 3 i e § af
= 8 > 5' i & oo A a3

C) = AfRviarew ot wrtifrers
fFreEE N T 7en e w

S et
D) difkaigst 5 3 e # v

died &
24. THAFT T M 2 7

A) Sl - DNA® tRNA & germati iy
fera

B) g4 — mANA & gemreit 51 aqe
T T AT

- C) Tt 9. — domen wvehw =
% o1 arfetet 3 sy

D)mﬁtﬁ—ﬁﬁmmmwnq,am’maﬂt
s

=
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25. Select the incorrect statement. 25. T & T U el

A) Hybrid seeds must be produced
every year to obtain maximum
advantages of heterosis

B) Heterosis is lost by inbreeding

C) Apure-line is the progeny of a large
number of heterozygous self
pollinated plants

D) Genetic diversity is being or is
likely to be used in the
improvement of domesticated
plénts

26.
26. One of the agricultural practices of

breeding and raising livestock is
called

A} Veterinary science
B) Dairy farm management
C) Cross breeding

D) Animal husbandry

h

Page No. 1ﬂ

A} TR 1 firman o e w0 &
e & o "t d i semer fea
. ST =R

B) SURma wenfy some 510 T B w2

C) TF Y& 9T 32 oy R
¥ T 7t T ) gam @

D) it fifereran an wrere el 3 gqum
T 3TN B Y T @

I Feieft axyeit ot Srom ot Qor i

I e &

A) TRt Rem
B) TeTe SuTe
C) IR Yo

D) wftr Hfy
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27. Mule is a cross breed obtained by 27. mwﬁmﬁmﬁ,sﬁmﬁqﬂqﬁ

crossing
A) drer 3tk Tt Sfe
A) male horse and female zebra
B) T 3R wran ey
B) male donkey and female zebra
: C) wig afi meft
C) male horse and female donkey
D) e iR =it

D) male donkey and female horse

*28. Identify:two rice varieties used to

develop semi dwarf variety of rice

A) IR-8 and Taichung native-1 A) IR-8 3R 3 Ifa-1

B) Sonalika and Kalyan Sona . B) @R 3k et wi
.C) Jaya and Ratna C) s 3R T

D) ‘Kalyan Sona and Jaya . © D) e g st s

*9. Which one of the statements regarding 29. T A 3 |1 Ty a1 Yo E % RER
asexual reproduction js false ?

Fer?
A) Offsprings are similar to their S
gk _ A) Tafd Hrar-frar St 2t 2
B) Reduction division takes place B) 3‘?‘?@{ T % IR o Ry
during asexual reproduction : e :
C) Offspring do not show variation C) wafy ¥ % b 72 By
D) Zygote formation does not take
D) Imst 77 7 gy
place i :
D’age‘No. 1a 5CEB
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30. Match the Column | with Column il and

select the correct option from the choice
below ;
Column | Column li

a. Polyernbryony i. Commelina

b. Dioecioys ii. Grass

¢. Cleistogamous ii. Date paim

d. Apomixis iv._Citrus
a b ¢ d

A ) (i) () iy

B) (v) (i) (i) )

M O M) i

D W o

31. IDNA is produced by joining
A) one mRNA with a DNA segment
B) one mRNA with plasmid DNA
C) two RNA molecules

D) one mRNA with a polypeptide

A 0 |

30. mlamuﬁﬁa’mmgqaﬁﬁmgi:

wi | Wil
a. vieefsr i. ST
b. =R ii. W
c. AT iif. TR
d. iR iv. fizw
a b ¢ g
A) (iv) (i) () (i)
B) (v) Gii) (i) ()
Cya o (v (i
D) (i) (v) ® i)
31. fom=h e @ rDNA Sriféa gar & 7

A) TF mRNA & a1 v DNA Sz
B) T mRNA % @ wefére pna
C)-q‘rHNAH’réazLar;

D)qaquNAaamqaaqTﬁﬁﬁmss

LPage No. 1%
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J2. Plasmidiis a

A) extra chromosomal, self replicating,
double stranded, linear DNA of
bacteria

B) chromosomal, self replicating
double stranded, circular DNA of
bacteria

C) extra nuclear, self replicating,
double stranded, circular DNA of
bacteria

D) nuclear, self replicating, double

stranded, circular DNA of bacteria

33. Find out correct statement about Bt toxin

A) Bttoxin exists as an active compound
in the Bacillus

B) Bttoxin is produced by cotton plant
to kill pest

C) The activated toxin enters into

ovaries of the pest and the pest

killed

D) The inactivated prototoxin gets
converted into active form in the
insect gut and kills the insect

34. Elution means

32. wfE U
A) ik s, T AR, g
Wite, T = e DNA
B) mmﬁﬁnwg@z
SATFITET T Mt DNA
C) siferen e, T YR, g
Wise, SARITET F N DNA

D) Wmﬁ%ﬁq,wq@a
TFNET T MATHR DNA

33. Bt 2 & fram 3 wdt w7

A) Btz framis N F s 8 i
Fe d @t

B) Bt eif #u@ & uia} gra g =
T & I I e s 2

C) #e % ienm § Brnehie 2iwm vay
T 8 o e 1T S @

D) framfa Mereifsaa frawie aFm
% ¥ H wee I Hle F T F 9 ]
T 2

34. HTH F1 HadT 2
A) FHE &1 ¥ DNA 372 1 ST qar

A) cutting and extraction of DNA e T o
bands fr:om the igl;arose gel B) S DNA ¥ 7%t 2t

B) -:Zz?;:‘t:;ne[of DNA fragments on et wan -

C) making the DNA fragmients visible C) UV it & DNA % 33 smr Tom
when exposed to UV light 3T R

D) isolating a desired'gene from DNA D) Sfid #1 DNA &1 UF =ifesq i =i
of an organism AT T

B [-Page No. 15] 5CEB
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35. One of the following supports declining 35. Tefrfea & & e aremd %ﬁfﬁzﬁm
phase of a population H G FAT R |
~ A) Mortality > natality A) TIH > U
B) Natality > mortality B) S > TRt
C) Mortality = natality C) T = TR

D) Nata"ty - mortallty =0 D) et — W-{ =0

36. The restriction site recognized by

enzyme ECOHl is 36. TSEA EcoRi ERT 9g9FT &1 Nfdsy 'H'I's'?."%

VT A) CCGGGC |
_ . B) CTGCAC |
B) CTGCAC |
- C) GAATTC
C) GAATTC
D) AAGCTT
D) AAGCTT

37. T & Frrem daem w@t iR 7

37. Which one of the following is not

correctly matched ? A 3’1 i
A) Dengue Aedes mosquito ®) o .
: C) sifufeemfm  wfFawt |
B) Malaria Female Anopheles . ‘
D) T’ Lcl

C) Amoebiasis Houseflies

D) Ri Droplet
)} ingworm - Droplets 38, BT # & W 1 G AL B &

mé&ﬁam%mﬂﬁm

38. Which of the following enzymes is not

duced by E.coll during lact TR ? |
Produced by E.coli during lactose

catabolism ? : - A)p- ﬂ'ﬁﬂﬁﬁl@a ;

A) B-galactosidase B) il giodberay .

B) Galactoside transacetylase C) W%WE?H

C) Carbonic anhydrase D) Wrw wo

D) Lactose permease
B he R

Page No. 16 5CEB
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39. According to HGP, the longest gene
consists of

A) 3, 164, 7 million base pairs
B) 3000 base pairs

C) 2968 base pairs

D} 2.4 million base pairs

40. In Mung bean, resistance to yellow
mosaic virus and powdery mildew were
fnduced and developed by

A) Mutation breeding
B) Hybridization
.C)! Polyploidy breeding

D) Recombinant DNA technology
method

41." Which of the following is not a sexually
transmitted disease ?

A) Acquired immune deficiency
‘syndrome

B) Trichomiasis
C) Syphilis

D) Tetanus

42. Inithe womb of the mother the first heart
sound of the foetus can be heard by
Stethoscope at

A) First month of pregnancy
B). Third month of pregnancy
C) Fifth month of pregnancy

D) Sixth month of pregnancy

39. HGP ¥ o7faR W w% 7 # 3w w12
' ]

A) 3, 164, 7 fafemm

B) 3000

C) 2968

D) 2.4 fafér=

40. @ﬁqﬁ,tﬁéﬁﬁﬁmaﬂtmﬁm
&+ wfedy 5 T S ofk
o R e 2 |

A) IafEdT somm

B) @&

C) vidhwmsst yomm

D) : weile Siw Wi iRy

41. 78 Q 70 A W AR 7
A) T T Refefe Rgm
B) iR
.C) fuftsfera
D) 2T

42. 7 % mf § qu ¥ gew @ veeh oy
B0 e G 1wt R 7

A) THIEEN % YEer R &
B) Tiawen & e 7Y &
C) mfaen % vied wet §

D) mvieen & we nel §

B E’age No.. 1ﬂ
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43. Read the statements and identify the

right option.

Statement!: Mild foetal_ ejection

reflex is induced by
placenta.

Statement Il : Foeta| ejection reflex

triggers the release of
oxytocin from the
ovary.

A) Statement!and !l are correct
B) Statement | and !l are incorrect

C) Statement | is correct and Il is
incorrect

D) Statement 1 is incorrect and Il is
correct

44. Identify the incorrect statement

pertaining to contraceptives from the
following.

A) Most widely accepted methods of
contraception in India is Intra
uterine devices

B) Surgical intervention blocks
gamete transport and thereby
prevent conception

C) Pills inhibit ovulation and
implantation as well as alter the
quality of cervical mucus and
retard the entry of sperms

D) 1UDs are useful only before the
coitus

AR A

4&amﬁaﬁ%ﬁnuﬁﬁﬁaﬁﬁl

AL T U TE Redy 3y
e 0 e e s 2
FATN: O S REda sfgEm
W ATRIRA Y fer @ B |
w8 |

A) FUT | T |l et 2
B) & | qun Il et @
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45. The regression co-efficient for
frugivorous birds in tropical forests of

different continents is
A) 0.1

B) 1.5

C) 1.15

D) 1.75

46. Which of the following is not an example
for degenerate codon ?

A) Leucine
B) Alanine
C} Tryptophan
D} Glygine

47. Which of the following is not a
characteristic of Drosophila
melanogaster ? ;

A) They are dioejcious flies

B) The genes studied by Morgan
found on different chromosomes

C) They show many types of heredity
variations

D) They complete their life cycle in
about two weeks

45. TaPT TENT 5 o s 8 g
aférii % fore e ories @

A} 0.1
B) 1.5
C) 1.15
D) 1.75
46. 7% ¥ BN 1 vRm 1w F Ry e
T2 7
A) TR
B) TerTE
C) fexdrwm
D) emsfi

47. T A FR W e AT
R T R ? |

A) 3 SRR nffRgat §

B) A¥ g0 srerm fran war s sren
3TETT ShYIS & qrg T @

C) 3 SRR 3 wiad ) 7wt &

D) o & g%l § ¥ o1 ey 5% =)
T H §
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48. Read the statements and identify the 48. e e wel femen 9 |
right option :

Statement|: Due to continental drift R E '," ;F(izil ?:E:: A i
pouched mammals of | - Lt
Australia survived. R S | ;
Statementll: South America joined el - Sfequr e, I e
North America due to % G Fifreded W & |
continentai drift. TR F2 |
A) Statement | and |l are correct A) T | @ il T
B) Statement ! and Il are incorrect B) e | @ Il T

C) §tatement lLis correctand Il is c) T :
incorrect R hd || TreId
D) Statement | is incorrect and I is D) = | et T e || St

correct

49. S T TET | |
A) TR — T ERER & Yo 'i
S

49. ldentify the mis-matched one.
- A) Australopithecus — hunted with

stone weapons

B) S gifeierd — WiEah @ gme 650 cc
B) Homo habilis —brain capacity 650 cc ) '

C) Homo erectus — ate meat C) T Weed — 01| TId & 1
D) Modern man arose — 10 thousand D) g e WE - T ESR A i | |
years back

50. 7 @ frd ik sredifen o 2 7 !

50. Which of the following contains only

bacterial disease ? A) FRT, TEEES, Pt
A) Cholera, Typhoid, Pneumonia B) T, TEd, $y S
B) Malaria, AIDS, Cholera C) TEHEE, TG, FRITT

C) Typhoid, Tuberculosis, Influenza :
D) waferdia, weitern, faffoa i
D) Diabetes, Malaria, Syphilis
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